OFFICE OF THE PANCHAYAT SAMITI, DABUGAON DIST:NABARANGPUR

TENDER CALL NOTICE NO. 01 / 2018-19

Letter No- 928

Dated:- 26 /05/2018

The Block Development officer, Dabugaon invites sealed tenders in conformity with detailed tender call notice to be drawn up in state P.W.D F-2 contract from the eligible registered contractors of State P.W.D / Irrigation / R.W. / R.W.S.S. and P.H.E.D having valid license from competent authority for civil works. The proof of registration from appropriate authority shall be enclosed along with the Bid. If successful, the bidder who has not registered under State Government, Odisha has to register under the state PWD in appropriate class of eligibility before signing of the agreement.

The bidders may submit bids for the following works:-

SI. No	Name of the work	Amount put to tender excluding GST(Rs)	EMD to be deposited 1% (Rs)	Cost of tender documents (Non refundable) (Rs)	Class of contractor	Time of completion	
1	2	3	4	5	6	7	
1	Construction of Staff quarter at Block colony Premises.	7,47,705.00	9,000.00	4,000.00	CåD	06 (Six Calender months)	

Date of Tender Paper available

:-Dt.28.05.2018 to Dt.02.06.2018 (Tender paper to be

downloaded from

official website www.nabarangpur.nic.in)

Last Date of receipt Tender paper Date of opening Tender paper :-Dt.02.06.2018 (During office hour)

:-Dt.04.06.2018 (Time 11.00 AM) at Block Office, Dabugaon.

Terms and Conditions: -

- O1. Availability of Tender Papers: The bid documents can be downloaded from the official web site of the district (www.nabarangpur.nic.in). From Dt.28.05.2018 to Dt.02.06.2018. The Cost of tender document specified in column-05, shall be attached with the bid in sealed envelope in shape of Banker's cheque/Bank Draft only in favour of Block Development Officer, Dabugaon payable at SBI, Dabugaon.
- O2. Tender must accompany with 1 % EMD as mentioned in column-04, in shape of NSC/KVP/STDR/TDR / Banker's cheque dully pledged in favour of Block Development Officer, Dabugaon payable at SBI, Dabugaon alongwith attested copies of valid and up to date GSTIN / Pan / Tin Certificate/Contractor Licence with experience certificate (if any) of contractors from competent authority without which the Tender will be liable for rejection .Affidavit about the authentication of documents including bank guarantee must be attached with tender documents.
- Of. The contractors shall furnish a certificate along with the tender to the effect that he /she is not related to any officer in the rank of an Assistant Engineer & above in the state PR & DW dept.
- O4. Tenderers are requested to quote their percentage rate both in words and figures. The Tenderers are required to put their signature on every over writing or any correction made in the tendered rate. The tender filled in figure only but without mentioning in words shall be liable for rejection for which no tender paper cost shall be returned to the tenderers.

26/3/8

Page 1 of 3

- 05. The Tender schedule alongwith bill of quantities dully filled in and all relevant papers in sealed cover will be received through registered post / speed post. Also the tenderer have to submit tender papers in the office of the undersigned to be dropped in the designated tender box .The last date of receipt of tender paper is Dt.02.06.2018 in the office hour upto 1.00PM .The tender paper will be opened in the Office of the Panchayat Samiti, Dabugaon at 11.00 AM on Dt.04.06.2018 by the undersigned in presence of the tenderers or their authorised representatives who may be present at the time of opening.
- 06. <u>Telegraphic tender will not be accepted</u>. The undersigned will not be held responsible for the postal delay if any for the delivery of the documents or non-receipt of the same in time. However no tender will be received by Fax or by E-mail.
- 07. Schedule caste and schedule tribe & physically handicapped tenderers will deposit EMD as 50% of the amount as mentioned in Column-04 and they will produce Caste Certificate, Physically handicapped certificate at the time of submitting tender paper.
- 08. In case of Engineering contractors seeking exemption of EMD of the work, are instructed to produce an affidavit regarding his / her list of works for which he / she has claimed such exemption and being avoided such works, during current financial year- 2018-19.
- 09. The conditional tender will not be accepted on any circumstance by the authority. When the tenderers will quote the rate is less than the estimated cost put to tender shall have to furnish the exact amount of differential cost (i.e. estimated cost put to tender minus the quoted amount) as Additional Performance Security in shape of Demand Draft only in favour of Block Development Officer, Dabugaon payable at SBI, Dabugaon. By the successful tenderer before execution of Agreement. Deposit in any other shape except Demand Draft will not be entertained. Shortfall of any required documents, drafts an EMD, tender paper is liable for rejection.
- 10. Where the quoted value offered in a bid, works out to an amount which is 15% less than the tendered value then the bid document shall be rejected.
- 11. No Excess tender is invited to the amount put to tender. The authority reserves the right to reject any or all the tenderers without assigning any reason thereof.

Block Development O

Memo No. 929

Dated: - 26 /05/2018

Copy submitted to the Collector, Nabarangpur / Project Director, DRDA, Nabarangpur for kind information & necessary action

Dabugaon

Memo No .: - 930

Dated: - 26 /05/2018

Copy submitted to D.I.P.R.O., Nabarangpur for information.

Dabugaon.

Memo No: - 931

Dated: - 26/05/2018

Copy to The Editor of the Anupambharat for publication and necessary action. Copy to the notice board of this office for wide publication.

> Block Develop Dabugaon.

Memo No._932

Dated: - 26 /05/2018

Copy forwarded to the Addl. PD (Tech.), DRDA, Nabarangpur for kind information. He is requested to attend the office of the undersigned on Dt.04.06.2018 at 11.00 AM to participate in the tender opening for verification & scrutiny.

Dabugaon.

Memo No._933

Dated: - 26 /05/2018

Copy to District Informatics Officer, NIC, Nabarangpur for information and wide publication in the web site from Dt. 28.05.2018 to Dt. 02.06.2018, after that he is requested to delete the same from the website. He shall confirm through a written reply.

Dabugaon.

Tender Schedule

NAME OF THE WORK:-CONSTRUCTION OF Staff QUARTER IN THE PREMISES OF BLOCK COLONY, DABUGAM

Amount put to tender : Rs 747,705.00

Last Date of Available of Tender-

paper:Dt.02.06.2018(Upto 1.00PM)

E.M.D. required

:01% of Bid Amount.

Last Date of Receipt of Tender-paper

:Dt.02.06.2018(Upto 1.00PM)

Cost of tender paper : Rs.4,000/-

Date of Opening of Tender-paper

Dt.04.06.2018 (At 11.00am)

Class of Contractor : 'D' & 'C' Class. Time for completion :06 (Six) calender

months.

		months.				
I. No.	Description of works	Qnty.	Unit	RATE		
	-V	187		Rate.	Amount	
1	2	3	4	5	6.00	
01	Earth work in excavation in foundation in hard with all leads and lifts including dressing and levelling the bed and depositing the excavated materils away from working area with all labour and T&P, royalty, taxes etc.complete as per the direction of the Engineer-in-charge.	28.277	100 Cum.	12795.78	3618.00	
02	Providing and filling manually foundation & plinth with approved quality of sand in layers not exceeding 150mm, thick in each layer including all labours, watering, ramming, etc., required for the work including cost, conveyance, royalty and taxes for finished item of works as per the direction of the Engineer-in-charge.	21.963	One Cum.	325.16	7141.00	
03	Cement Concrete (1:3:6) in foundation and plinth with 40 mm, size hand broken hard granite metal of approved quality from approved quarry including hoisting, laying and placing not exceeding 150mm, thick in each layer of concreting with proper packing & ramming by means of vibrator including curring, dewatering, shoring, shuttering if necessary at the time of laying concrete with cost, conveyance, royalty & taxes of all materials required for the work, T&P and finishing the exposed surface smooth as per specification & direction of the Engineer-in-charge, providing grooves & beads where necessary, etc. complete in all respects.	21.248	One Cum.	3794.40	80623.00	
04	Fly-ash brick masonry in C.M. (1:6) in super structure with all cost convayance & royalty of materials, all labour etc complete as per the direction of the Engineer-in-charge.	25.620	One Cum.	3720.07	95308.00	
05	Fly-ash brick masonry in C.M. (1:6) in foundation and plinth with all cost, convayance & royalty of materials, all labour, etc complete as per the direction of the Engineer-in-charge.	0.324	One Cum.		1195.00	
06	R.C.C. work M-20 grade with 20 mm & down graded black h.g. stone chips including hoisting, lowering and laying concrete and compacting in layers not exceeding 15cm, thick in each layer with proper packing and ramming by means of vibrator/rammer, with cost, conveyance, royalty and other taxes of all materials and cost of all labour T&P and other machineries required for the work complete in all respects as directed by the Engineer in charge.	26.928	One Cum.	4691.42	126331.00	



7	Straightening.cutting.bending,binding & welding if required and tying the grills and placing in proper	26.928	One Qnti.	5195.51	139905.00
	position of MS/TS rods as per approved design and drawing for all RCC work including cost,				
	conveyance,taxes of tested MS/TS rods and				
	binding wire of 18 to 20 gauge, all labour and T&P				
	complete for all RCC works as per the direction of		1		
	Engineer in charge in conformity with approved		0		
	design of the department etc. complete in all				
	respect				
38	Rigid and smooth centering and shuttering for				
	C.C./RCC works and dismantling them after				
	casting including cost of all materials, labour and			- 1	
	Tools & plants required for the work as per the specification and direction of the Engineer- in-				
	Charge of the work.				
_	(A) For mass concrete in foundation and base of	13 296	One Sqm.	100.21	1332.00
	columns	1,500			
	(B) For RCC grade beams	19.455	One Sqm.	100.21	1950.00
	(C) For RCC lintel	23.856	One Sqm.	252.02	6012.00
	(D) For RCC Chajjas		One Sqm.	372.13	5756.00
	(E) For RCC columns		One Sqm.	564.73	10216.00
	(F) For RCC Beams		One Sqm.	564.73	16953.00
	(G) For RCC Roof slab		One Sqm.	372.13	25097.00
9	20 mm thick cement plaster in cement mortar (1:4)	67.441	One Sqm.	165.91	11189.00
	as grading plaster over roof slab including cost,				
	conveyance, royalty of all materials, all labour, etc.				
10	complete. 20 mm thick cement plaster in cement mortar (1:6)	22 770	One Sqm.	153.51	3495.00
10	in over stone work including cost, conveyance,	22.770	One oqui.	100.0	0.00.00
	royalty of all materials, all labour, etc. complete.				
11	16 mm thick cement plaster in cement mortar (1:6)	196,100	One Sqm.	142.64	27972.00
	including cost conveyance royalty of all materials,				
	all labour, etc. complete.			05.00	0407.00
12	12 mm thick cement plaster in cement mortar (1:6)	87.892	One Sqm.	95.99	8437.00
	including cost conveyance royalty of all materials,				
13	all labour, etc. complete. Supplying, fitting and fixing of M.S. doors &	674 325	One K.G.	70.00	47203.00
13	Window Shutters with M.S. Angle frame of	01.4.02.0		1.0000	11.01
	approved design				
14	Supplying, fitting and fixing of M.S. Grill doors &	200.880	One K.G.	65.00	13057.00
	Grills with M.S. angle frame of approved design.				
15	Supplying, fitting and fixing PVC doors with frame	1.000	One No.	4000.00	4000.00
10	of approved design.	1.000	One No.	4000.00	4000.00
16	Suppliying, fitting and fixing vitrifiedtiles in floor of	58.831	One Sqm.	955.26	56199.00
	size grooms 600mm X 600mm of approved make		100000000000000000000000000000000000000		THE PERSON NAMED IN
	laid on 20mm thick cement mortar (1:4) and filling				
	the joints with white cement including cost of all				
	materials, labour, etc.				
17	Fixing tiles in dados skirting and risers with cement	9.990	One Sqm.	891.92	8910.00
	plaster in cement mortar (1:3) joined with neat				
	cement slurry mixed with pigment to match the				
	shades of the tiles including rubbing and polishing				
	complete including cost, conveyance, royalty of all				
	materials, all labour, etc complete				
18	Fixing tiles in floors or treads of steps and landing	3.150	One Sqm.	908.28	2861.00
	on 25 mm thick bed of cement mortar 1:1 joined				
	with neat cement slurry mixed with pigment to				
	match the shades of the tiles including rubbing and				
	polishing complete including including cost,				
	conveyance, royalty of all materials, all labour, etc				
	The second secon			1	
	complete		-	222.42	4000000
19	Priming one coat with any approved primer to walls & ceiling including all cost, conveyance of all	239.070	One Sqm.	41.84	10003.00

le 1976

20	Painting two coats with weather seal paint of approved quality over a coat of primer including	109.042	One Sqm.	99.68	10869.00
No.	cost, conveyance, taxes of all materials, labour, T & P etc. complete.	20120000			
21	Wall painting two coats with plastic emulsion paint of approved quality & shade on new work to give an even shade inculding cost, conveyance, taxes of all materials, labour, T & P etc. Complete	239.070	One Sqm.	65.03	15548.00
22	Painting two coats with approved enamel paint on new iron work including cost conveyance, taxes of all materials and labour etc complete.	43.291	One Sqm.	97.60	4225.04
23	Construction of transperancy board at the work site with all cost conveyance taxes and royalty of the materials required for the work including painting, and writing required data as per specification and direction of the Engineer-incharge of the work.	1.000	One No.	2000.00	2300.00
		- 8		Total	747705.04
				Say	747705.00
	(Rupees Seven Lakhs Fourty seven thousand seven hundred five only)				

APPROVED FOR 23(TWENTY THREE)ITEMS
ONLY

ONL

BLOCK DEVELOPMENT OF DABUGAM BLOCK.

Note:

- (1) The contractor should not write any thing except quoting of percentage and in case any thing else regarding tender rate is mentioned, the tender is liable for rejection.
- (2) Strike out which are not applicable.

Signature of Contractor